(s 100(100 A Matths)
=T3927 CLASS 10

ARITHMETIC
PROGRESSION

Lecture 2







% : Find the number of natural numbers betw eenu -
102 and 998 which are divisible by 2 and 5 k LC'V[
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# LP : Find the 10th term from the end of A.P. 4,9, 14, ...,
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# Sum of first n term of an AP:
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# LP : The sum of first six terms of an AP is 42. The rafio |
of its 10th term to its 30th term is 1:3. Calculate the first
and thirteenth term of this Kpr. TR EE
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# LP : In an AP, the first term s 2, thelast tern} is 29 qand
the sum of the terms is 155. Fis \g) common difference of
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: If the nth term of an AP is (2n+1) , find the sum of
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#LP:If Sn=3n2-4g, find the nth term of AP. [CBSE 2019]
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#LP: Solve 1+4+7+10+...+x =287 [CBSE 2020]"™ |
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#LP: Ramkali required Rs 2500 after 12 weeks to send her daugh\{;l" to

school. She saved Rs.100 in the first week and i ased her weekly
saving by Rs 20 eve Find whether she will be able to send her
daughter to school after 12 weeks or not. What value is generated in

the above situation? SZBSE 2015]
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prove that

: stirtermroran AP is 1/q and gth termis 1/
the sum of tirst pq terms of the AP i (pq+1/ 2) CB
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